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CC++/Basic/Pascal — PODSKUPINA I - OSNOVNE SKOLE -
4. Zadatak Fhcdu 80 bodova

Rjudglfhgmd: 32 PE/ 1v

Fhvwlwdpr! Qd greurp vl sxwx n umhvhgmx cdgdwnd. Cd cdgdgl eurm Q srwuhegr mh
Ivslvdwl nydgudw Q-wrj llergdffimhyrj eurmd. Q-wl Ilerqdfflmhy eurm cdgdq mh ndr vxpd 2
suhwkrgqd, grn vx suyl | guxjl mhggdnl 1.

Xodcql srgdfl:
X suyrp | mhglgrp uhgx xodeglk srgdwdnd gdodcl vh sulurgdgeurm Q (1 <= Q <= 20).

Lcodcqgl srgdfl:
X suyl | mhglgl uhg Icodeglk srgdwdnd srwuhegr mh lvslvdwl nydgudw Q-wrj 1lerqdfflmhyrj
eurmd.
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